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Monday 15™ June 2020

Please remember it is really important for you to
read everyday for at least 10 minutes. It is a good
idea to read lots of different texts, not just fiction.




Maths
15.6.20

Fluentin 5
Complete these 5 questions iIn 5 minutes

1. 9761 x19 =
89% x 25 =

Vs X 448 =
6188 + 17 =

53 x8—(78—-48) =

g = B



Maths
15.6.20
LO: to express ratios.

Key vocabulary:
A ratio compares values, telling us how much of one thing there is

compared to another thing.

Proportion is not the same thing as ratio, as it tells us about a number in
relation to a whole.

For example, they might be shown the following diagram and would need to know that the ratio of blue shapes to
pink shapes is three to four. They would need to know to write this as 3:4.

...A“A at is the ratio o
@O0 AAAA @uar T
© AAAA

S
. . . ‘ ‘ ‘ A For proportion, we would say there are 4 pink shapes in
900

A ‘ ‘ ‘ every 7 shapes, or 3 blue shapes in every 7 shapes.



Maths

15.6.20

LO: to express ratios.

Steps to Success:

1.

2.

Ratio compares one amount to others

We write a ratio with a colon representing ‘to’ —
for example there are 3 bananas to every 4
apples in a fruit bowl, which would be written
like 3:4

The ratio must be written in the order of the
statement — for example 3 bananas to every 4

apples = 3:4. But 4 apples to every 3 bananas =
4:3

It comparing three ratios, it follows the same
format — for example 3 red crayons to every 5
blue crayons to every 2 green crayons would
be written 3:5:2

Example:

. Complete:
o.o.o.o.o

The ratio of red counters to blue counters is

The ratio of blue counters to red counters is |

red:blue blue:red
4:5 54



Maths write
15.6.20 &

LO: to express ratios.
Fluency: Reasoning and problem solving:

Tick the correct statements. In a box there are some red, blue and

»
& Write down the ratio of: '. J P) ) "l: green pens.

* Bananas to strawberries
* Blackberries to strawberries "' l'l !l@ The ratio of red pens to green pens is
3:5
| J
"'1 }B For every 1 red pen there are two blue

* Strawberries to bananas to blackberries
* Blackberries to strawberries to bananas

. The ratio of red to green marblesis 3: 7 pens.
Draw an image to represent the marbles.
What fraction of the marbles are red?
What fraction of the marbles are green?

* There are two yellow tins for every
three red tins. Write down the ratio of red pens to blue

pens to green pens.

* There are two red tins for every three

yellow tins.

* The ratio of red tins to yellow tins is
23

* The ratio of yellow tins to red tins is
2335

Explain which statements are incorrect
and why.




Answers:
15.6.20

Fluentin 5
Complete these 5 questions iIn 5 minutes

1. 9761 x 19 =185, 459
89% x 25 =22.75

% X 448 = 168

6188 + 17 = 364

53 x8—(78-48) =970

g = B



Answers:

Fluency:

Reasoning and problem solving:

& Write down the ratio of: ’. JJJCJD t-::

* Bananas to strawberries 3:2

» Blackberries to strawberries 62

» Strawberries to bananas to blackberries 246
» Blackberries to strawberries to bananas g4

. The ratio of red to green marblesis 3: 7
Draw an image to represent the marbles.
What fraction of the marbles are red?
What fraction of the marbles are green?

3/10 are red
//10 are green

Tick the correct statements.

8880
888CC

* There are two yellow tins for every
three red tins.

» There are two red tins for every three
yellow tins.

* The ratio of red tins to yellow tins is
243

* The ratio of yellow tins to red tins is
2:3

Explain which statements are incorrect
and why.

The first and last
statement are
correct. The other
statements have
the ratios the
wrong way round.

White

In a box there are some red, blue and
green pens.

The ratio of red pens to green pens is
3:5

For every 1 red pen there are two blue
pens.

Write down the ratio of red pens to blue
pens to green pens.

:20r




Further practise:

Fluency

Reasoning

Further challenge:

¢ In 1 week | eat 2 ice creams.

4 |/

How many ice creams will | eat in:
a) 2 weeks?
b} 4 weeks?
c) B wesks?
dj 14 weeks?

« [Forevery 2 apples Sally eats,

& i & i
she eals 1 banana.

Fill in the missing numbers in the
sentences below.

banamnas.

For every apples, Sally eats 8
bananas.

For every 4 apples, Sally eats

« 1:2 and 3:8 are equivalent ratios.
Circle the ratios below that are
also eqguivalent to 1:2 and 3.6
4:5 816 48 35 26

Explain how you know.

= [Finish the sequence of ratios:

34, 6:8, 812,

Explain how you found the missing
numbers.

What is the rule for the sequence?

* Orange paint is made from red
and yellow paint in the ratio of 3:5

To make 40 litres of orange paint how
much would | need of each colour?
Explain your thinking.

If you want to challenge yourself,
you can follow this link for a lesson
aimed at Y7 on ratio. Please only
use this link if you have been really
confident with the ratio work today.
This is only for the children that want
to do challenge work. It is aimed at
Y7 so please don't get
disheartened if you find it difficulf.

https://classroom.thenational.academy/le
ssons/use-ratio-notation-and-simplify



https://classroom.thenational.academy/lessons/use-ratio-notation-and-simplify

E n g Iis h '@ TallforWriting

15.6.20
LO: to generate ideas and
vocabulary.

Starting Game: The City of

Silence

Have you ever wondered what it is
like in ...

*the mountain of imagination,
*the castle of doom,

*the city of wonder,

*the maze of wishes,

*or the cellar of despair?

Well, you are about to find out! In this
game, we are going to create our own
unique settings by combining places and
things. Let's get started by making a list of
places.

Please click on this link to access the tasks and

activities or use the slides:
https://www.talk4writing.com/wp-content/uploads/2020/04/Y6-James.pdf

Activity 1: Make a Llist of place

% Here we want as many different type of places as possible —the more the
better. For example: wood, city, shed, street, station, maze, cellar ...

% Top Tip: generic places are what we are looking for here, not the actual
names of particular places: we want city not London, planet not Jupiter.

Sorting your ideas

One way to sort your places is to put them into categories. This
often helps you to think of more ideas as one idea can lead to
another and so on.

Water Where people live Buildings Outer space
lake town shed moon
river house supermarket planet

% Now over to you to make your lists of places. Can you get more than 50?



https://www.talk4writing.co.uk/wp-content/uploads/2020/04/Y6-Unit.pdf
https://www.talk4writing.com/wp-content/uploads/2020/04/Y6-James.pdf
https://mailchi.mp/talk4writing/home-school-booklets

English
15.6.20
LO: to generate ideas and

vocabulary.

Here are some ideas to magpie.

‘; To.il-cfnﬂ"lr iting

+

31—

Activity 2: Make a List of abstract nouns

ABBCD —
i

____-—_.

Before we make our list for the game, you might
need to brush up on the four types of nouns:

e Concrete nouns: the general names for people, places and things that you
can see/touch/taste/smell etc. e.g. ball, table, grass, pony, child

¢ Proper nouns: special names starting with capital letters e.g. Sarah, Dr
Foster, Spain

e Collective nouns: a word for a group of animals, people or things e.g. gang,
swarm, crowd, pair

e Abstract nouns: something that exists but you cannot see/touch e.g. love,
dream, fear, hope

For our game, we want lots and lots of abstract nouns. Here are some top tips
for your list:

Happy feelings: hope, love, joy, friendship, happiness,
Sad feelings: regret, pain, doom, sadness, dread
Fantasy: curse, premonition, vision, dream, nightmare,

Attitude words ending in -tion/-sion: determination, ambition, trepidation,
passion, confusion



https://mailchi.mp/talk4writing/home-school-booklets

English

15.6.20

LO: to generate ideas and
vocabulary.

Important:

Question? Is the word happy an abstract noun? Let’s try it out in a sentence:

The man felt very happy as it was his birthday.

Here the word happy is describing the man. We call those words adjectives.

We can change happy to an abstract noun by adding a suffix:
happy — happiness. The church filled with happiness on their wedding day.

e So the adjective sad becomes the abstract noun sadness.
e And the adjective lonely becomes the abstract noun loneliness

* Now over to you to make your list of abstract nouns. If
you’re stuck, magpie from the ones above or ask your
% family if they can think of any.

“ To.ikfnﬂ"lr iting

+

31—

Activity 3: Making your first combinations!

Now comes the fun part! Choose one word from each list and put them
together to make an interesting combination. Here’s how it works:

Places Abstract Nouns Combinations

church  +  love The church of love
vilage ~ +  dreams The village of dreams
station +  pain The station of pain
tunnel  +  hope The tunnel of hope
river + anxiety The river of anxiety

Each place can be paired up with any of the abstract nouns so the possibilities
are endless! At this stage, try not to worry about whether they are ‘good’ or
not just generate lots and lots of ideas so we have plenty to choose from later.

ﬁ * Now make as many combinations as you can!
y *
é‘;;

Top Tip: You could choose ONE setting and then combine
it with 5-10 abstract nouns and see which one surprises,
entertains or interests you most.

The school of doom
The school of laughter
The school of determination


https://mailchi.mp/talk4writing/home-school-booklets

English
15.6.20
LO: to generate ideas and
vocabulary.
Acf:iviﬁ:; 4: Try some alliteration

Let’s make some more combinations but this time try to make them
alliterative: this means both your place and your abstract noun need to start
with the same sound:

The cave of curiosity The temple of tervor

The office of honesty The motorway of mischief

A star of sorrow The fairground of fear

ﬁ * Now have a go at your own alliterative combinations

'é-z. -

Make sure you keep these ideas safe for tomorrow.
We will be asking you to email your work in
tomorrow for us to see.

i’-‘ Tail-cfnr#llrihng,
b
Activity §: Judging your ideas
» e Now you have generated your list, you can start judging

2

% Now pick your top 10
combinations and keep them
somewhere special

é-:,:;

%  BONUS! Here is
a photo of a list | made
with my class. If you
had to choose 5 to
steal/magpie,

which ones would you
go for?

e, Wwhich ideas stand out. Reading your ideas out loud can
help here to listen to the effect on the ear. Which ones
might surprise your reader? Which ones have you never
heard before? Which ones immediately conjure up an
image in your mind’s eye?

W

The Aoak of fean
The it Aded The maze

et 45

Ths. faioprownd of Aies Tha peot of cliath B
The suruunciey porl of decams -
The mansion of pain The rverf eodhon
Y earsed



https://mailchi.mp/talk4writing/home-school-booklets

Spelling
15.6.20

For the spelling tasks you are going to do this week, you need to know the Year 5 and 6 spelling
list words. Therefore, today we want you 1o spend some fime practising and looking over them.

accommodate communicate equip immediately physical sincerely
accompany community equipped individual prejudice soldier
according competition equipment interfere privilege stomach
achieve conscience especially interrupt profession sufficient
aggressive conscious exaggerate language programme suggest
amateur controversy excellent leisure pronunciation symbol
ancient convenience existence lightning queue system
apparent correspond explanation marvellous recognise temperature
appreciate criticise familiar mischievous recommend thorough
attached curiosity foreign muscle relevant twelfth
available definite forty necessary restaurant variety
average desperate frequently neighbour rhyme vegetable
awkward determined government nuisance rhythm vehicle
bargain develop guarantee occupy sacrifice yacht
bruise dictionary harass occur secretary

category disastrous hindrance opportunity shoulder

cemetery embarrass identity parliament signature

committee environment immediate persuade sincere



Creative — Ancient Maya Civilisation
15.6.20

LO: 1o explain the significance of maize and cacao to the ancient Maya
people.

Steps to Success:
1. Identify the foods farmed and Other Maya Foods
eaten by the Ancient Maya Maize or corn was the main food of the Maya people and made up to 80% of

thelr dlet Examples of other foods eaten include:

people.

2. Read about the importance
of maize.

3. Read about the importance
of cacao.

4. Research the two foods
further and list 5 reasons why
each was important.

5. Decide which you think was
the most important and why.




Creative — Ancient Maya Civilisation

15.6.20

LO: 1o explain the significance of maize and cacao to the ancient Maya

people.

Maize
Maize was a very important crop, and formed up to 80% of their diet.

To plant the maize, holes would be made in the soil with a sharp bladed, wooden
digging stick called a dibble. The soil was very dry and if the May rains didn’t

come, a whole year’s crop would be lost.

For thousands of years, the Maya
worshipped the maize god. They
believed that the first humans were
made by the gods from maize dough!
Because of this, v

when suffering
from severe
illness, they
would eat ,
nothing but corn. E




Creative — Ancient Maya Civilisation

15.6.20

LO: 1o explain the significance of maize and cacao to the ancient Maya

people.

Chocaholics!

Cacao trees sprout cacao pods directly from their trunks. The pods are then
opened to reveal the cacao beans inside. The Maya were using these beans to
make a chocolatey drink from as far back as the fourth century AD. However, it
was not the sweet, chocolately flavour we crave today, but a more bitter tasting
version, often laced with chilli or vanilla and other spices.

The drink was enjoyed by the rich and
noble members of society, and the cacao
beans were highly valuedt:' They were even
used as a form of currency later on in
Maya history.

The Maya word for chocolate is Kakaw.




Creative — Ancient Maya Civilisation
15.6.20

LO: to explain the significance of maize and cacao to the ancient Maya
people.

Task: Research the importance of corn and chocolate to the Ancient Maya people. Find &
reasons why maize was significant and 5 reasons why cacao was significant. Record them in @
table like the one below. Then use the information to decide which food you think was the
most important and then explain why you think that in as much detail as possible.

Corn Chocolate I think was the most important
food to the ancient Maya people because...




Tuesday 146 June 2020

Please remember it is really important for you to
read everyday for at least 10 minutes. It is a good
idea to read lots of different texts, not just fiction.




Maths
16.6.20

Fluentin 5
Complete these 5 questions iIn 5 minutes

1. (120+8) + (90 + 3) =

2. 3/5x3/7 =
3. 1 7s-3%%=
4. 15-14.239 =

5. 33% of 85 =



Maths Example question:

LO: to solve problems involving ratio.

16.6.20 A farmer plants some crops in a field.
For every 4 carrots he plants 2 leeks. %

He plants 48 carrots in total.
How many leeks did he plant?
How many vegetables did he plant in total?

Steps to Success:

1.

2.

Begin with the known ratio. For example — 4 carrots to every 2 leeks
ldentify other known numbers in the questions. For example: 48 carrots

Calculate the number difference between the ratio and known number. For example:

x12 C A2 48 carrots are planted, which is 12 times mores than the
48: inifial raftio.

Multiply the opposite side of the ratio by the same amount. For example:

4:2 19
x12 C ) X There are 48 carrots and 24 leeks planted.
48:24

Add together the new ratios to find fotal amount. For example:

48 + 24 =72 There are 72 vegetables planted in total.



Maths
16.6.20

LO: to solve problems involving ratio.

Fluency:

White

Reasoning and problem solving:

N

0

Jack mixes 2 parts of red paint with 3 parts blue paint to make
purple paint.
If he uses 12 parts blue paint, how many parts red paint does he

- N
20

Eva has a packet of sweets.

For every 3 red sweets there are 5 green
sweets.

If there are 32 sweets in the packet in total,
how many of each colour are there?

You can use a bar model to help you.

Red

32

Green

Teddy has two packets of sweets.

In the first packet, for every one
strawberry sweet there are two orange
sweets.

In the second packet, for every three
orange sweets there are two strawberry
sweets.

Each packet contains 15 sweets in total.

Which packet has more strawberry

sweets and by how many?

Annie is making some necklaces to sell.
For every one pink bead, she uses three
purple beads.

DO

Each necklace has 32 beads in total.

The cost of the string is £2.80
The cost of a pink bead is 72p.
The cost of a purple bead is 65p.

How much does it cost to make one
necklace?




Answers:

Fluentin 5
Complete these 5 questions iIn 5 minutes

1. (120+8) + (90 + 3) =45
2. 3/5x3/7=9/35

3. 17-%=1Vs

4. 15-14.239 =0.761

5. 33% of 85 = 28.05



Answers:

[ |

. Jack mixes 2 parts of red paint with 3 parts blue paint to make

purple paint.
If he uses 12 parts blue paint, how many parts red paint does he

use? 8 parts red

Eva has a packet of sweets. DO‘
For every 3 red sweets there are 5 green ‘&
sweets.

If there are 32 sweets in the packet in total,
how many of each colour are there?
You can use a bar model to help you.

12 red and 20 green

Red

32

Green

X 4 2:3
8:12) X4

€

3:5 = (3+5) 8

12:20 = (_+ ) 32

>y

White



Answers:

Teddy has two packets of sweets.

In the first packet, for every one
strawberry sweet there are two orange
sweets.

In the second packet, for every three
orange sweets there are two strawberry
sweets.

Each packet contains 15 sweets in total.

Which packet has more strawberry
sweets and by how many?

The first packet
has 5 strawberry
sweets and 10
orange sweets.
The second packet
has b6 strawberry
sweets and 9
orange sweets.
The second packet
has 1 more
strawberry sweet
than the first
packet.

Annie is making some necklaces to sell.
For every one pink bead, she uses three
purple beads.

DO

Each necklace has 32 beads in total.

The cost of the string is £2.80
The cost of a pink bead is 72p.
The cost of a purple bead is 65p.

How much does it cost to make one
necklace?

Each necklace has
8 pink beads and
24 purple beads.

The cost of the
pink beads is
£5.76

The cost of the

purple beads is
£15.60

The cost of a
necklace is £24.16

White



Further practise:

Further challenge:

Fluency

Reasoning

Problem Solving

1.

2.

3.

A O
AOO O

There are 3

Look at the set of shapes. Circle
the statements that are true.

280
2008

There are two orange sqguares for
every six purple squares.

There are three purple squares for
EVEry Orange square.

The ratio of crange fo purple is 1:3
The ratio of purple to crange is two
i sine

Complete the senfences to
describe the setf of objects.

oA

far every &

There are

for every

¢ Danyal makes a necklace
using green and orange
beads.
He makes a repeating
patiermn of 2 green beads
and 3 orange beads.

0000000000

If he has 14 green beads and 25
crange beads, can he make a
necklace without any beads
being left ower?

Explain your answer.

» Sarah makes a necklace
using the repeating pattern
shown biebow:

000000000000A0

Which of the following
staterments is true?

1. I Sarah uses 12 green
beads, she will use maore
thamn 30 orange beads.

2. I Sarah uses 12 green
beads, she will use exactly
30 orange beads.

3. I Sarah uses 12 green
beads, she will use less
thamn 30 orange beads.

Explain your reascning.

= A coach holds 50 pecple. Most of the seats are
taken.

Jumior tickets cost £13 and Adult tickets cost £23
The total amownt paid for tickets is approximately £6800

How many people on the coach were adulis and how
miany were juniors?

Can you find more than one option?

= A shopkesper spent exacily £10 on 100 eggs for
her shop.

Large eggs cost S0p each.
Medium eggs cost 10p each.
Small eggs cost 5p each.

Far two of the sizes, the shopkeeper bought the same
number of eggs.

How many of each size did the shopkeeper buy?

s

yo

-

White

If you want to
challenge yourself, you
can follow this link for a
lesson aimed at Y7 on
ratio. Please only use
this link if you have
been really confident
with the ratio work
today. This is only for the
children that want to
do challenge work. It is
aimed at Y7 so please
don't get disheartened
if you find it difficult.

https://classroom.thenation
al.academy/lessons/dividing
-an-amount-into-a-given-
ratio



https://classroom.thenational.academy/lessons/dividing-an-amount-into-a-given-ratio

E n g "S h TaLk{anr‘Lth,'

3
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Please click on this link to access the tasks and

activities or use the slides:

16.6.20

https://www.talk4writing.com/wp-content/uploads/2020/04/Y6-James.pdf

LO: to select appropriate
vocabulary.

Look back at your ideas from yesterday
and add any new ideas you may have.

AC&EVLE:’ &: Can you Jw:lge. my ideas?

Fancy being a teacher for a minute? Have a go at judging
some of these ideas. Number these combinations in order

from ‘best’ to ‘worst’. Can you say why you have chosen
the top one as your favourite? What is it about it that

you like?

* The city of kindness

» The living room of boredom
* The factory of creativity

= The farm of hunger

= The forest of premonitions

Challenge — what does premonitions meane If
you're not sure, look it up to find a definition.

Acl:ivi!:j 7: Creating a sim PLe List poem

Let’s have a go at writing a simple poem now from your favourite 10 or so
ideas. They could be around a theme (e.g. space, happiness, darkness) or just
the combinations that really caught your eye. Why not add some illustrations
around your list poem ideas on the previous page?

Space

The planet of doom

The star of freedom

The black hole of light

The moon of isolation

The galaxy of hope

The universe of infinity

The sun of nightmares

The solar system of confusion

% Now have a go writing your own
simple list poem

Send your poems to yearé@westfield.staffs.sch.uk for
us fo see.



https://www.talk4writing.co.uk/wp-content/uploads/2020/04/Y6-Unit.pdf
https://www.talk4writing.com/wp-content/uploads/2020/04/Y6-James.pdf
https://mailchi.mp/talk4writing/home-school-booklets
mailto:year6@westfield.staffs.sch.uk

Grammar and Spelling
16.6.20

Revision task: Section 1 Section 3 Section 5
Can you write a passive Read the sentence below and underline Add a suffix to the word 'excite’ to create
sentence about the two words that are synonyms of 0 noun:
the picture? each other:

Sprinting for his life, Gary was running
away from a rampaging bull.

Section &

Add a semicolon to mark the end of the
independent clause, then add another
related clause to the sentence.

Section &

Mr Whoops has accidently jumbled up
two adjectives that he used to describe
his latest clumsy accident. Can you help The train rushed past the station
him to unjumble them? platform

Section 2

Look at the choices of words within the
brackets. Circle the correct word to fit
the sentence:

The school council (disgust/ discussed)
their ideas for the new playground
equipment.

DWEWAAR SEIASTUODS

Mot being a lover of vegetables, Aaron
looked at the sprouts on his plate with
(disgust/ discussed).

w W W twinki.ceuk




Answers:

16.6.20
Revision task:

Section 1 E
Can you write a passive

sentence about the
picture?

Accept any passive
sentence with the verb
‘to be' + a past participle
(with or without the agent, i.e.
‘by the girl’), e.g. The rope was
being climbed [by the girl].

Section 3
Read the sentence below and underline
the two words that are synonyms of
each other:

Sprinting for his life, Gary was running
away from a rampaging bull.

Section 2

Look at the choices of words within the
brackets. Circle the correct word to fit
the sentence:

The school council discussed their ideas
for the new playground equipment.

Not being a lover of vegetables, Aaron
looked at the sprouts on his plate
with disgust.

Section &4
Mr Whoops has accidently jumbled up
two adjectives that he used to describe
his latest clumsy accident. Can you help
him to unjumble them?

DWEWAAR SRIASTUODS
AWKWARD

DISASTROUS

Section 5
Add a suffix to the word 'excite’ to create
0 noun:
excitement
Section 6

Add a semicolon to mark the end of the
independent clause, then add another
related clause to the sentence.

The train rushed past the station

platform

Accept any sentence with a semicolon
and another added independent clause
relating to the first, e.g. The train
rushed past the station platform; no
passengers wanted to

get on.

W**

twinki.couk



Creative — Ancient Maya Civilisation

16.6.20

LO: to understand the importiance of farming for the ancient Maya civilisation.

Steps to Success:

1.

Read the information and watch the
video on the BBC bitesize link.

Do your own research info ancient
Maya farming.

Draw a diagram and explain the 3
types of farming that the ancient
Maya civilisation used.

Explain why important was farming.

Task:

Use the link below to access @
video and information about Maya
farming.

https://www.bbc.co.uk/bitesize/topics/zq6svcw/
articles/zd844qt

Then draw diagrams and explain 3
types of farming used by the
ancient Maya people.

Finally, write why farming was so
Important.



https://www.bbc.co.uk/bitesize/topics/zq6svcw/articles/zd844qt

Wednesday 17t June 2020

Please remember it is really important for you to
read everyday for at least 10 minutes. It is a good
idea to read lots of different texts, not just fiction.

£y, - T
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Maths
17.6.20

Fluentin 5
Complete these 5 questions iIn 5 minutes

1. =32x142
2. 3% X8 =

3. 5.5x230 =

4, 92+ 2% =

5. 2,142 + 63 =



Maths
17.6.20
LO: to solve problems involving ratio and proportion.

Key vocabulary reminder:
A ratio compares values, telling us how much of one thing there is
compared to another thing.

Proportion is not the same thing as ratio, as it tells us about a number in
relation to a whole.

For example, they might be shown the following diagram and would need to know that the ratio of blue shapes to
pink shapes is three to four. They would need to know to write this as 3:4.

...A“‘A at is the ratio o
@O0 AAAA @uar T

@00 AAAA
. . . AAAA For proportion, as there are 7 shapes in each pattern, we
. . . A ‘ ‘ ‘ would say there are 4 pink shapes in every 7 shapes, or 3

blue shapes in every 7 shapes.



Maths

17.6.20

LO: to solve problems involving ratio and proportion.

Steps to Success:

1.

2.

Read the question — what information do we knowe What do we need to find out?

Look at the price/measurement given and see how many items/people that amount is
for. For example — 5 pens costs £2.50. Price is £2.50 and that is for 5 pens.

Now look again at what the question is asking — do you need 1o find the
cost/measurement for 1 person/item¢ Do you need to find the cost/measurement for
10 people/items?

ldentify how to get from the given quantity to the desired quantity in the question. For
example: 5 pens costs £2.50 — to find out the cost of 1 pen: 5+1 = 5 so | would do
£2.50+5. If | needed to find out the cost of 10 pens,  know 5§ x 2 =10, so | would do £2.50
x 10.

Check your calculation work and that your answer is written in the correct units.



Maths
17.6.20

LO: to solve problems involving ratio and proportion.

Example:

r/—Huauti|:nei‘r::rE|:~«=.-|:||:11.E} —\

1 onion

60 g butter
180 g lentils
1.2 litres stock

« 480 ml tomato juice
- J

How much of each
ingredient is needed
to make this recipe
for 4 people?

This recipe is for 6 people — | know 4 is not a multiple or factor of 6.
So | am going to find the quantities for 1 person by dividing each

quantity by 6, then multiply that by 4 to find the quantities for 4
people.

1 onion + 6 =1/6 of an onion x 4 = 4/6 of an onion
60g butter + 6 = 10g x 4 = 40g butter

1809 lentils + 6 = 30g x 4 = 1209 lentils

1.2 litfres stock + 6 =0.2 x4 =0.8 litres stock

480ml tomato juice + 6 =80 x 4 = 320ml tomato juice

For more help with this concept, there is a fantastic video on BBC, follow this link:
https://www.bbc.co.uk/programmes/p08b5hn7



https://www.bbc.co.uk/programmes/p08b5hn7

Maths
17.6.20

LO: to solve problems involving ratio and proportion.

Fluency:

. How much of each ingredient
is needed to make soup for:

* 3 people .
* 9 people ‘
» 1person

What else could you work out? \_

/Fﬁacipafnrﬁpenple \.

1 onion

60 g butter

180 g lentils

1.2 litres stock

480 ml tomato juice /

. Two shops sell the same pens for these prices.

Safeway
4 pens £2.88

Which shop is better value for money?

K-mart
7 pens £4.83

. The mass of strawberries in a smoothie is three times the mass of
raspberries in the smoothie. The total mass of the fruit is 840 g.

How much of each fruit is needed.

Strawberries

Raspberries

8B40 g

Reasoning and problem solving:

This recipe makes 10 flapjacks.

Flapjacks

120 g butter
100 g brown sugar
4 tablespoons golden syrup
250 g oats
40 g sultanas

Amir has 180 g butter.

What is the largest number of flapjacks
he can make?

How much of the other ingredients will he
need?

Alex has two packets of sweets,

In the first packet, for every 2 strawberry
sweets there are 3 orange.

In the second packet, for one strawberry
sweet, there are three orange.

Each packet has the same number of
sweets.

The second packet contains 15 orange
sweets,

How many strawberry sweets are in the

first packet?




Answers:

Fluentin 5

Complete these 5 questions iIn 5 minutes

1.

2.

3.

4,044 = 32 X 142

3% x 8 =0.24
5.5 x230 = 1,265

Q%+ 2% =12 Vs (%-%=9/8whichis 1%+ 9 +2 =12 %)

. 2,142 + 63 =34




White

Answers:

Fluency:
B How much of each ingredient /"~ Racipe for 6 people N | 3 people: 9 people: 1 people:
is needed to make soup for: /2 onion 1 %2 onion 1/6 onion
* 3 people *  1onion 30g butter 909 butter 10g butter
*+ 9 people . ?guﬂm 90g lentils 2709 lentils 30g lentils
. - g o . .
1 person el 0.6 litres stock 1.8 litres stock 0.2 litres stock

What else could you work out? | * mmlmmju,mj 240 ml tomato juice 720 ml tomato juice 80 ml tomato juice

. Two shops sell the same pens for these prices. Safeway: 1 pen costs £2.88 + 4 = £0.72
Safeway K-mart K-mart: 1 pen costs £4.83 + 7 = £0.69
4 pens £2.88 7 pens £4.83

K-mart is better value for money as it costs less per pen.

Which shop is better value for money?

. The mass of strawberries in a smoothie is three times the mass of 840g = total mass
raspberries in the smoothie. The total mass of the fruit is 840 g.

How much of each fruit is needed. Ratio is 3:1, so added together 3+1 = 4 equal parts

Strawberries

840 ¢g 1 part =840g + 4 =210g

Raspberries

Raspberries = 210g
Strawberries = 210g x 3 = 6309



Answers:

This recipe makes 10 flapjacks.

4 Flapjacks N\
120 g butter
100 g brown sugar
4 tablespoons golden syrup

250 g oats
40 g sultanas

(. J

Amir has 180 g butter.

What is the largest number of flapjacks
he can make?

How much of the other ingredients will he
need?

He has enough
butter to make 15
flapjacks.

He will need 150 g
brown soft sugar,
6 tablespoons
golden syrup,

375 g oats and

60 g sultanas,

Alex has two packets of sweets.

In the first packet, for every 2 strawberry
sweets there are 3 orange.

In the second packet, for one strawberry
sweet, there are three orange.

Each packet has the same number of
sweets.

The second packet contains 15 orange
sweets.

How many strawberry sweets are in the
first packet?

White

Rase
Maths

Second packet:
15 orange
5 strawberry.

So there are 20
sweets in each
packet.

First packet:
8 strawberry
12 orange

The first packet
contains 8

strawberry sweets.



Further practise:

Problem Solving Further challenqe:

# | measured my stride when walking and found
it i be BOcm. If | walk for 18m, how many

strides do | take? If you want to challenge yourself, you can

* Idina is making buns. Can you fill in the follow this link for a lesson aimed at Y7 on ratio.
TS quaniRes e s Please only use this link if you have been really

Butter | Sugar [ Eggs | Flour confident with the ratio work today. This is only

i R : for the children that want to do challenge

= 200g work. It is aimed at Y7 so please don't gef

0 375g disheartened if you find it difficult.

24

bumns

s InYear8, there are 38 children with blonde https://classroom.thenational.academy/lessons/ratio-
hair and 4& children with brown hair. There inVO|Ving-a—given—quantitv

are half as many children with black hair as

thers are with blonde hair. What is the overall
ratio for blonde to brown to black hair in Year

67 Can you simplify this ratic?

White
Rase
Maths



https://classroom.thenational.academy/lessons/ratio-involving-a-given-quantity

Enghsh &  Toldforwriting Please click on this link to access the tasks and

v activities or use the slides:
1 7.6.20 https://www.talk4writing.com/wp-content/uploads/2020/04/Y6-James.pdf

LO: to understand an authors vocabulary and structural choices.
Below is a poem written by Pie Corbett using The City of Silence game called The Cave of
Curiosity. It is a great example of a poem using a repetitive pattern; this time he starts each verse
with the phrase: In the cave of curiosity. We are going look closely at this poem and write some
responses.

The Cave of Curiosity In the cave of curiosity, I created

the coldness of frost as it freckles the windowpane,
In the cave of curiosity, I created the sharpness of a saw as it crunches through wood
an angry ant ambling along, and the sadness of a tear as it trickles down a cheek,

a terrified tarantula tickling a tornado

and a curious computer calling cautiously to the King. In the cave of curiosity, I captured

the moen's cold gleam imprisoned in a box,

In the cave of curiosity, I created the joy of a merry-go-round as it spins like a feral ferris wheel
the sound of silence closing its lips, and the force of a rainbow as it dazzles the sky with a smile that stuns,
a hummingbird's wings flickering, ® Pie Corbett

as the sea silently scrapes the pebbles and ten tired lorries trundle by,

In the cave of curiosity, I created

the touch of smooth stones from the summer beach,
the stickiness of honey on a fingertip

and the heat from a teaspoon as it stirs my morning tea.


https://www.talk4writing.co.uk/wp-content/uploads/2020/04/Y6-Unit.pdf
https://www.talk4writing.com/wp-content/uploads/2020/04/Y6-James.pdf
https://mailchi.mp/talk4writing/home-school-booklets

“ To.ikfn ririting

4

Q_F

English
17.6.20
LO: to understand an authors vocabulary and structural choices.

Now answer these questions using about the poem:

5) Write Pie a short piece of feedback about his poem. It could follow this

1) Which is your favourite word, line or verse? And why?
structure: 1. Give some praise 2. Offer some advice 3. Ask a question

ﬁ %  Now havea go at responding to Pie's poem.

2) Which line would you like to change? What would you change it to?
~ 4



https://mailchi.mp/talk4writing/home-school-booklets

Spelling

17.6.20

Mr Whoops is a little bit clumsy.. OK, OK, he's a lot clumsy! Even though he's really trying
hard with his writing, he's still accidentally misspelt 13 of his Y5/Y6 key spelling words.
Can you spot his mistakes?

Highlight them in the passage of text.

Could you then correct the words at the bottom of the sheet and

create a list for Mr. Whoops to practise?

Activity 1
Last week, I entered a photography competision in my local newspaper. I was desparate to
win because the marvelous prize was some new, state-of-the-art equiptment. As a very keen
amituer photographer, I was determined to win. The task was to take a photograph in my
local enviroment to cumminicate the beauty and history of my hometown of Whoopsville.
I decided to take a photograph of the war memorials that commemorate the brave soljers
that gave their lives in battle at my local cematary. My first attempt at getting a picture was
disastrious because I got caught up in an agressive thunder and lighting storm. But once the
rain had ceased, I managed to get an excellant shot of a gravestone surrounded in poppies with
a glorious sunny backdrop. They must have loved it - I won first prize!



Answers:
Spelling

The spellings you should have identified and spelt correctly for him are:

Activity 1
competition desperate marvellous
amateur equipment environment
communicate cemetery soldiers
disastrous aggressive lightning
excellent

If you didn’t identify any of these or you spelt them incorrectly for him, then
please practise them daily. It is important you know these spellings.



Creative - Art
17.6.20
LO: to study a famous artist

We are going to start a small art project about a famous Mexican artfist.

Today we want you to find out who the artist is, learn about her background
and how she became an artist. Then have a look yourself at her artwork.

The artist we are studying is Frida Kahlo




Thursday 18™ June 2020

Please remember it is really important for you to
read everyday for at least 10 minutes. It is a good
idea to read lots of different texts, not just fiction.




Maths
18.6.20

Fluentin 5
Complete these 5 questions iIn 5 minutes

1. 8,316+ 42 =
2. X (63+9) =
3. 2/7 x 84 =
4. 669 x 39=

5. 10.9-232 =



Maths

18.6.20

LO: to solve problems involving ratio and proportion.

Today’s problems are more practising of the skills we did yesterday but in
different contexis.

Steps to Success:

1.

2.

Read the question — what information do we knowe What do we need to find out?

Look at the price/measurement given and see how many items/people that amount is for. For
example — 5 pens costs £2.50. Price is £2.50 and that is for 5 pens.

Now look again at what the question is asking — do you need to find the cost/measurement for 1
person/item?¢ Do you need to find the cost/measurement for 10 people/itemse

Identify how to get from the given quantity to the desired quantity in the question. For example:
5 pens costs £2.50 — to find out the cost of T pen: 5+1 = 5 so | would do £2.50+5. If | needed to
find out the cost of 10 pens, | know 5 x 2 =10, so | would do £2.50 x 10.

Check your calculation work and that your answer is written in the correct units.



Maths
18.6.20

LO: to solve problems involving ratio and proportion.

Example:

Two different shops are selling the same cans of drink. Each shop is
running a different special offer.

Shop 2:

SPECIAL OFFER SPECIAL OFFER
Buy one get one free! Get 5 cans for the price of 3!

a) I decide to buy 20 cans of drink for a party. If I use the special offers,
how much will it cost me to buy the drinks from each shop?

b) Which shop will give me the cheapest price for each individual can of
drink and by how much?

Question A

Shop 1: The offer is buy on get one
free. So for every one | buy, | get
one free — therefore | am only
paying for 10 cans. Therefore:
£1.20x 10=£12.00

Shop 2: The offeris 5 cans for the
price of 3. 20 + 5 = 4, for every
group of 4, we are going to pay for
3,503 x4=12,s0we will pay for 12
cans. 12x90p = £10.80.

Question B

Shop 1 —£1.20 + 2 = £0.60
Shop 2 - 90p x 3 = £2.70 + 5 = £0.54

-

| Fwinkl !



There are two sets of questions to choose from. You can do both, or if you are feeling really confident just dc
the set on the next page.

Challenge 1

1) Freya is making fruit smoothies using 2) A beef stew is cooked for 40 minutes for every 1
this recipe: litre of stew. For how many hours will it need to be
cooked if there is 4% litres of stew?

Recipe for Fruit Smoothie

3) Tweo friends are sharing a collection of 48 football
(zerves & people]

cards. Jack gives Owen three cards for every one

500g bananas . ., card that he keeps for himself.
200g strawberries -‘ :l:mr r::}u?ny football cards does Jack keep for
imself?

180g raspberries ‘

360ml milk Tack @

50ml natural yogurt “

u'_l Write the quantities of each ingredient Freya wall Owen @ @ @

need if she makes a smoothie for herself and her

| 48 football

cards

friend. 4) There are two shops that sell the same glue sticks.
b) Freya is making smoothies for & people. Write the
quantities of each ingredient she will need. Special Offer Special Offer
{:'_I Freya holds a birthday party for a total of 16 Only £2.96 for Just £6.57 for
people. Give the quantities of each ingredient she & glue sticks! 9 glue sticks!

will need for the party.

1 0 The Stati Sh Ch Statr
d) Freya is using 400ml of natural yogurt. How e stationery shop eap ionery

many people 13 she making smoothies for? Which shop sells glue sticks for the lowest price? p—
Explain how you know.




Challenge 2

1) Two different shops are selling the same
cans of drink. Each shop 1= running a

different special offer.

Shop 1:
SPECIAL OFFER
Get 3 cans for
th L 21
e price of 90p
Shop 2:
SPECIAL OFFER
Get 5 cans for
the price of 3! £1.10

a) Which shop will give me the cheapest price for
each individual can of drink and by how much?

b) Idecideto buy30 cans of drink for a party. If I use
the =pecial offers, how much will it cost me to buy
the drinks from each shop?

c) Shop 3 sells 6 cans for the price of 4.
Shop 3:

Qut of the three shops, which 1= it cheapest for me
to buy 30 cans from?

2} There are two bags of marbles.

In the first bag, for every 3 red marbles there are 2
green marbles.

In the second bag, for every 1 red marble there are
2 green marbles.

There are the same number of marblez in each bag.

The second bag of marbles contains 10 green
marbkles.

How many red marbles are in the first bag?

i
:



Answers:

Fluentin 5
Complete these 5 questions iIn 5 minutes

1. 8316 +42=198

2. 3°x (63+9) =189
3. 2/7 x 84 = 24
4. 669 x 39= 26,091

5. 15.9-232=13.58



Chadllenge 1 answers:

1) a) 2509 bananas 2) 1 litre: 40 mins
100g strawberries % litre = 20 mins
90g raspberries 4 litres = 4 x 40 = 160mins
180ml milk 4 % litres = 180mins or 3 hours
£0ml natural yogurt 3) Jack keeps 12 football cards for himself while Owen is given 36 cards.
b) 750g bananas 4) The Stationery Shop sells glue sticks for 74p each whereas Cheap Stationery sells glue sticks for 73p each so
Cheap Stationery sells them for the lowest price.

300g strawberries
270g raspberries
540ml milk

120ml natural yoghurt
c) The ingredients list could be multiplied by 4:
2000g or 2kg bananas

800g strawberries

7209 raspberries

1440ml or 1.441 milk

320ml natural yogurt

d) Freya is making a smoothie for 20 people.

Challenge 2 answers:

1)

2)

a) Shop 1 gives the best price per can by 6p a can.
Shop 1 (Get 3 cans for the price of 2): £1.80 + 3 = 60p per can
Shop 2 (Get 5 cans for the price of 3): £3.30 + 5 = 66p per can
b) Shop 1 (Get 3 cans for the price of 2): £1.80 x 10 = £18
Shop 2 (Get 5 cans for the price of 3): £3.30 x 6 = £19.80
c) Shop 3 (6 cans for the price of 4): £3.60x5 = £18
Shop 3 is the same price as Shop 1 and they are both the cheapest.
The ratio of red to green marbles in bag 1 is 3:2 whereas the ratio in bag 2 is 1:2.

Bag 2 has 10 green marbles so there must be 5 red ones. Therefore, there are 15 marbles in bag 2 and 15
marbles in bag 1.

With 15 marbles in bag 1 there will be 9 red marbles and 6 green marbles.

-

| Fwinkl !



Further challenge:

If you want to challenge yourself, you can
follow this link for a lesson aimed at Y7 on ratio.
Please only use this link if you have been really
confident with the ratio work today. This is only
for the children that want to do challenge
work. It is aimed at Y7 so please don’t get
disheartened if you find it difficulf.

https://classroom.thenational.academy/lessons/solving-
ratio-problems-when-the-difference-is-given



https://classroom.thenational.academy/lessons/solving-ratio-problems-when-the-difference-is-given

E n g "S h '@ Takaanr'LEi.hg
18.6.20

Please click on this link to access the tasks and

activities or use the slides:

https://www.talk4writing.com/wp-content/uploads/2020/04/Y6-James.pdf

LO: to add detail to our writing.

Now let’s be a bit more adventurous! Go back to your list of combinations and | am going to

show you 3 different ways of extending them:

a. Adding in more detail

Here we want to describe more about either the place or the abstract noun
and we will do this by adding in well-chosen adjectives.

Example: The city of silence
The city of silence ... The forgotten city of silence

The city of silence ... The city of frozen silence
The city of silence ... The forgotten city of frozen silence

* Top Tip: sometimes using too many adjectives can cause your writing to
be overwritten: The huge, gigantic, massive, ugly city of silence.

50, add some effective adjectives and make sure that the
adjective you choose actually adds something to the writing.

£—  pietells us, “Every word should earn its place.”

b. Add in a character

This could be you or someone else and you'll need a verb telling the reader
what they are doing in your place.

1 sailed on the the ocean
and met a truthf

Example: The forest of nightmares

o | got lost in the forest of nightmares.

e She went into in the forest of nightmares and never came
back.

o Blake wandered into the forest of nightmares by mistake.

o Someone whispered in my ear stories about the forest of

nightmares.

here or add it into your favourite descriptive ideas from

f * Try adding a character into a new idea like the example
E— a) above.

——————D



https://www.talk4writing.co.uk/wp-content/uploads/2020/04/Y6-Unit.pdf
https://www.talk4writing.com/wp-content/uploads/2020/04/Y6-James.pdf
https://mailchi.mp/talk4writing/home-school-booklets

English

18.6.20

LO: to add detail to our writing.
Finally:

¢. What it is like in your place

Here we are telling the reader what might be in your place, what could happen

if you went there or how it got its name!

Example: The castle of curses

The castle of curses is home to all evil in the kingdom.
The castle of curses looms over the city forever watching.
Once you enter the castle of curses, you can never escape.

% Now try adding all the ideas together and creating some powerful verses.

Here's one example — as you can see, I've been influenced by the lock
down.

| walked softly into the forgotten city of silence, staring at
empty streets, abandoned shops and scary emptiness.

v

¥ S

* Top tip: Remember poems don’t have to rhyme — and
they're often more powerful if they don’t!

@&  TaliforWriting

&A“
s

AcELvLE:; 10: CHALLENGE! Trj some jux&apc:si.f:i.oh

If you haven’t heard of this term before, juxtaposition means having two
opposite or contrasting ideas next to each other. This can surprise the reader
as they might not be expecting it or have never heard it before.

The title of our game = The City of Silence = is actually an example of
juxtaposition because a city is not normally silent but full of noise. Here are
some other examples to help you think of your own.

The sun of darkness
The dungeon of love
The black hole of light
The cave of dreams
The waterfall of pain

Now have a go at coming up with some ideas that use
juxtaposition.

v

';—~—'i


https://mailchi.mp/talk4writing/home-school-booklets

Grammar and Spelling

18.6.20
Revision task:

Section 1
Can you place dashes around the
andditional detail (parenthesis) in this
sentence:

Usain Bolt the outstanding
Jamaican sprinter won
the first heat of the
100 metres.

Section 3

Can you invent Adam's
reply and write it in o
direct speech sentence
that uses inverted
commas?

Would you
like an apple,
Amy?

Section 5
Match the prefix to the correct root word:

ir secure
il legal
in regular

Section 2
Circle the TWO words that are antonyms
of each other in the following sentence:

You should always look both ways before
crossing a road and never cross from
behind a parked vehicle.

Section &4

Rewrite the sentence below with an
embedded relative clause about Billy.
Don't forget to mark it with commas!

Billy let the spider he had caught go free
in his back garden.

Which of the words you have made is a
synonym of unlawful?

Section 6
AT

) (h) .
o ~ —  (h
h i L'L i .

. "
N - ‘r) :

t.-f" [0 — g
L

Mr Whoops haos been juggling with
the letters from one of his ¥é6 spelling
words - can you spot what it is?

t h

P twink g

twinki.ceuk



Answers:

Section 1
Can you place dashes around the
additional detail (parenthesis) in this
sentence:

Usain Bolt the outstanding
Jamaican sprinter won
the first heat of the
100 metres.

Usain Bolt- the
outstanding Jamaican
sprinter- won the first
heat of the 100 metres.

Section 3
Can you invent Amy's

reply and write it in o
direct speech sentence
that uses inverted
commas?

Would you
like an apple,
Amy?

Accept any accurately-punctuated
reply, e.g. “That would be lovely,”
replied Amy.

Section 5
Match the prefix to the correct root word:

ir secure
il legal
in regular

Section 2
Circle the TWO words that are antonyms
of each other in the following sentence:

You should always look both ways before
crossing a road and never cross from
behind a parked vehicle.

always never

Section &

Rewrite the sentence below with an
embedded relative clause about Billy.
Don't forget to mark it with commas!

Billy let the spider he had caught go free
in his back garden.

Accept any relevant embedded relative
clause that begins with who, whom or
whose with the correct use of commas,
e.g. Billy, who was a lover of animals,
let the spider he had caught go free in
his back garden.

Which of the words you have made is a
synonym of unlawful? illegal

Section 6
I.--_.
P S o1
o) P [ h'
_— thu.-:l L
. Pt
T T —
(t) P . ‘a’
! (o) o 9
o

Mr Whoops has been juggling with
the letters from one of his Y& spelling
words- can you spot what it is?

thnrnugh

w**

twinki.couk




Creative - Art
18.6.20
LO: to study the work of a famous artist

Task:
Pick at least two of the pictures on the next slide, which are all pieces of art by
Frida Kahlo.

Then answer these questions about the pictures:
« What can you see in the picturee¢

 What colours has the artist used?

 How does the painfing make you feele
 Why do you think the arfist painted it¢

« Think of 3 adjectives to describe the picture.



Pick at least two of these
pictures and answer the
questions.

«  What can you see in
the picturee

« What colours has the
artist used?

« How does the paintfing
make you feele

«  Why do you think the
artist painted it¢

« Think of 3 adjectives to
describe the picture.

Self-Portrait Dedicated to Dr. Eloesser
Frida Kahlo

.-

Fruits of the Earth
Frida Kahlo

Self-Portrait with Monkeys

Frida Kahlo

[

Self Portrait with Necklace of Thorns
Frida Kahlo



Friday 19" June 2020

Please remember it is really important for you to
read everyday for at least 10 minutes. It is a good
idea to read lots of different texts, not just fiction.

A&y, -
o T

e )




Maths
19.6.20

Fluentin 5
Complete these 5 questions iIn 5 minutes

1. 7,884 + 1,299 =
2. 92+ 4=

3. 9718 -1999 =
4. 2699 x 20 =

5. 6,171 =17 =



Maths
19.6.20

Fluentin 5
Complete these 5 questions iIn 5 minutes

1. 7,884 + 1,299 = 6,585
2. 92+ 4° =145

3. 9718-1999=7.719
4. 2699 x 20 = 53,980

5. 6,171+ 17 =363



Maths
18.6.20

LO: to use scale factors.

Key vocabulary:

Scale factor: We use scale factor when we talk about increasing the size of a 2D shape. The size by
which we make the shape larger is described by its scale factor.

Enlarge: the act of making something larger.

Steps to Success:
:ﬁ:g’;ﬁaﬂ‘; and 1. ldentify the lengths of the sides of the

the width 2 squares. shape.

In rectangle B, the . ldentify the scale factor.

length is 6 squares and
the width 4 squares. . Multiply the lengths of the sides by

the scale factor.

The width and length
has doubled (x2). We . Draw the new shape using the new

call this scale factor 2.

lengths.




There will be two sets of questions again today. You can do both sets, or if you're confident move
straight on to set 2.

Set 1:

Copy these rectangles onto squared paper then draw them double Draw a rectangle 3 cm by 4 cm. Jack says:
the size, triple the size and 5 times as big.

Enlarge your rectangle by scale factor 2. The purple triangle is

Q) green triangle enlarged
Compare the perimeter, area and angles by scale factor 3

of your two rectangles.

Copy these shapes onto squared paper then draw them twice as big

and three times as big.
' g Zem 5em

Here are two equilateral triangles.
The blue triangle is three times larger 4cm
than the green triangle.

NS A A

Enlarge these shapes by: Scm

» Scale factor 2 (Not drawn to scale)
» Scale factor 3 2cm / 2cm Do you agree?

* Scale factor 4 5 em 6 cm Find the perimeter of both triangles. Explain why.




Set 2:

Complete the sentences.

A

4 N
Shape B is as
big as shape A.

Shape A has been enlarged
by scale factor to
make shape B.

/

Rectangle | Length | Width
A 5cm 2cm
B 4 cm
C 25 cm
D 18 cm

From A to B, the scale factor of enlargement is ___
From A to C, the scale factor of enlargementis ___
From Ato D the scale factor of enlargement is
From B to D, the scale factor of enlargement is

—

—

The rectangles described in the table are all similar to each other.
Fill in the missing lengths and widths and complete the sentences.

A rectangle has a perimeter of 16 cm.
An enlargement of this rectangle has a
perimeter of 24 cm.

The length of the smaller rectangle is
6 cm.

Draw both rectangles.

Always, sometimes, or never
true?

To enlarge a shape you just need to do
the same thing to each of the sides.




Set 2:

Ron says that these three rectangles are
similar.

2cm

4 cm

bcm

12 cm

10 cm

16 cm

Do you agree?
Explain your answer.

Further challenge:

If you want to challenge yourself further, check out this
link for work on scale factors in Year 7/8:

https://www.bbc.co.uk/bitesize/guides/zkw2pv4/revision/6



https://www.bbc.co.uk/bitesize/guides/zkw2pv4/revision/6

Set 1 answers:

For the first 3 questions, you will need an adult to check or you can email them to us on the Year é
email and we will look at the them for you.

Draw a rectangle 3 cm by 4 cm.
Enlarge your rectangle by scale factor 2.

Compare the perimeter, area and angles
of your two rectangles.

Here are two equilateral triangles.
The blue triangle is three times larger
than the green triangle.

A A

5cm

(Not drawn to scale)

Find the perimeter of both triangles.

The perimeter has
doubled, the area
is four times as
large, the angles
have stayed the
same.

The blue triangle
has a perimeter of
15 em.

The green triangle
has a perimeter of
S5cm.

Jack says:

@

The purple triangle is
green triangle enlarged
by scale factor 3

Aecm

Do you agree?
Explain why.

4 cm

5cm

Possible answer

| do not agree
because Jack has
increased the
green shape by
adding 3 cm to
each side, not
increasing it by a
scale factor of 3



Set 2 answers:

Complete the sentences.

r e )
Shape B is twice as
A big as shape A.
B Shape A has been enlarged
by scale factor __2__to
make shape B.

_/

The rectangles described in the table are all similar to each other.
Fill in the missing lengths and widths and complete the sentences.

Rectangle | Length | Width

A 5cm 2cm

B 10cm 4em

C 25¢cm | 10cm

D 45 cm 18 cm
From A to B, the scale factor of enlargement is ___%__
From Ato C, the scale factor of enlargement is 2
From Ato D the scale factor of enlargementis _9

92}

—

From B to D, the scale factor of enlargementis _4-

A rectangle has a perimeter of 16 cm.
An enlargement of this rectangle has a
perimeter of 24 cm.

The length of the smaller rectangle is
6 cm.

Draw both rectangles.

Always, sometimes, or never
true?

To enlarge a shape you just need to do
the same thing to each of the sides.

Smaller rectangle:
length - 6 cm
width - 2 cm

Larger rectangle:
length - 9 cm
width - 3 cm

Scale factor: 1.5

Sometimes.

This only works
when we are
multiplying or
dividing the
lengths of the
sides. It does not
work when adding
or subtracting.




Set 2 answers:

Ron says that these three rectangles are
similar.

Z2cm

4cm

Becm

12 cm

10 cm

16 cm

Do you agree?
Explain your answer.

Ron is incorrect.
The orange
rectangle is an
enlargement of
the green
rectangle with
scale factor 3.
The red rectangle,
however, is not
similar to the other
two as the side
lengths are not in
the same ratio.




Enghsh &  Tolcforwriting Please click on this link to access the tasks and

il activities or use the slides:
1 9.6.20 https://www.talk4writing.com/wp-content/uploads/2020/04/Y6-James.pdf

LO: to apply our ideas to a piece of writing.

Using your ideas that you have put together over the week, we would now like you to apply
these to a piece of writing. You have the choice to represent your ideas in a poem orin a
written description (or you can do both and compare, if you prefer!). At the end, we would like
you to send your piece of writing to: yearé@westifield.staffs.sch.uk for us to see - you could
send a written copy or you could record yourself reading it aloud for us to listen to.

Steps to success:

Decide either to write a poem or description/narrative (or bothl)

Decide on the place (city, castle, desert...)

Apply your combinations from Monday and Tuesday

Apply your combinations with added detail from Thursday

Apply juxtaposition

Remember to check and edit your writing, until you are happy with and ready to share
your final piece

o8 @ o N =

On the next page is an example of each type of writing.


https://www.talk4writing.co.uk/wp-content/uploads/2020/04/Y6-Unit.pdf
https://www.talk4writing.com/wp-content/uploads/2020/04/Y6-James.pdf
https://mailchi.mp/talk4writing/home-school-booklets
mailto:year6@westfield.staffs.sch.uk

English
19.6.20
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LO: to apply our ideas to a piece of writing.

Examples of the two types of writing you can produce:

For this poem, you will need a repeating phrase chosen from one of the ideas
above. Here are some examples so you get the idea:

I Got Lost
I got lost in the castle of curses and never came out,
I got lost in the maze of confusionas...
I got lost in the land of dreams where....
I got lost in the field of fear because....

In the Castle of Dreams
In the castle of dreams thereare...
In the castle of dreams you will....
In the castle of dreams no-one...
In the castle of dreams I....

The Dungeon of Doom
The dungeon of doom is home to....
The dungeon of doom wants you to......
The dungeon of doom is a place where.....
The dungeon of doom can......

To extend this poem, each verse could be 4 lines on a different threatening
setting. E.g. Dungeon of doom followed by Cave of Death, Forest of Dread

and Cavern of Fear.

One activity you could try now is to write a narrative or descriptive paragraph
based around one of your favourite combinations. Try to describe the setting
and how the character reacts to what they see. Remember to keep re-reading

your writing to see if it works and if it needs a tweak here or there with the
spelling or punctuation.

The City of Silence

I took a trip to the city of silence where the streets were silent and
no-one could utter a word. Cars passed by me without a sound and
songless birds flew overhead. My feet didn't even make a sound on
the pavement when I walked: it sounded as if everything was made
of cotton wool or had had the volume turned down to zero. I tried to
talk to the people but I couldn't even manage a squeak. An evil lord
ruled over the city and had cast a spell on the people making it
impossible for them to talk. Who could save them from this terrible
fate? And who could save me?


https://mailchi.mp/talk4writing/home-school-booklets

19.6.20
Spelling

Mr Whoops is a little bit clumsy...OK, OK, he's a lot clumsy! Even though he's really trying
hard with his writing, he’s still accidentally misspelt 13 of his ¥5/Y6 key spelling words.
Can you spot his mistakes?

Highlight them in the passage of text.

Could you then correct the words at the bottom of the sheet and
create a list for Mr. Whoops to practise? ||

‘%;E;.
g
ﬁ.ﬁ}:

Activity 3
Monday April 1st

Dear Diary,

I hate April Fool's Day! I have to spend my whole day looking over my showlder waiting for
my mischevous naybour, Peter Pest, to play one of his usual pathetic tricks! He's a complete
hinderence with absolutely no conshunce, even when he manages to embaras the people on
his own street. Acording to him, we should all have a better sense of humour - what a joke!
This year, my day started when I walked out of my house to one of Peter’s familar daft grins,
so straight away, I knew he was up to something. I wearily had a thourar look around for
any signs that might sugestt trouble but I didn't notice anything...that was until I opened my
viercule door. He'd managed to inturfear with my car and had atached a cream pie inside.
So as I opened it SPLAT. the pie launched straight into my face. You just wait for next year,
Peter Pest!



Answers:
Spelling

These are the incorrect spellings from Mr Whoops letter.

Activity 3

shoulder mischievous neighbour

hindrance conscience embarrass

according familiar suggest

thorough vehicle interfere
attached

Again, if you didn't spot these were incorrect, then please spend
some time practising the words you spelt incorrect.



Creative - Art
19.6.20

LO: to draw in the style of an artist.

Many of Frida Kahlo’s paintings were self portraits. Today we would like you to try and replicate
one of her self portraits. Choose on the paintings from below. Look carefully at the expression
on her face and the detail in the background. Take time and care over this porirait. We would




